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44 44 88 | 15.0 | 73.0 |[AE
45 49 94 21.0] 73.0 |[AE

3 42 46 88 | 14.0| 740 [AE

4 54 50 | 104 | 29.0 | 75.0 |[AE

5 46 54 100 [ 23.0 | 77.0 |[AE

6 49 47 9 | 18.0 ] 78.0

7 45 51 9 | 18.0] 78.0

8 B E 49 48 971 19.0] 78.0

9 [iIsE =HF 53 52 | 105 | 27.0 | 78.0

10 [/haEst #n8 45 50 951 15.0 ] 80.0

1 |EE ZEH 41 54 95 ] 15.0 ] 80.0

12 |58 =& 53 44 971 17.0] 80.0

13 A 37— 51 47 98 | 18.0 ] 80.0

14 |5 =i 49 521 101 | 21.0 | 80.0

15 [luKx £FE 52 54 | 106 | 26.0 | 80.0

16 |[FZF shz 46 541 100 | 19.0 | 81.0

17 [T =5k 53 49 1 102 | 21.0 ] 81.0

18 [&xn B 52 51 | 103 | 22.0 | 81.0

19 A&l g2 56 541 110 | 29.0 | 81.0

20 [fEW1 #tHE 46 50 9 | 14.0 ] 82.0

21 |&HF E—HR 46 53 99 | 17.0] 82.0

22 |48 —%X 47 56 | 103 | 21.0 | 82.0

23 W B 50 47 971 14.0] 83.0

24 1IluA &8 51 53 | 104 | 21.0 ] 83.0

2% |=ZE #= 49 56 | 106 | 22.0 ] 83.0

26 [#EIR FEA 51 50 | 101 | 17.0 | 84.0

27 Ek E 50 51| 101 ] 17.0 | 84.0

28 |ET #ith 49 50 99 | 14.0 ] 85.0

29 |[&H# E— 50 50 | 100 | 15.0 | 85.0

0 [EXx B= 50 52 | 102 | 17.0 | 85.0

31 [IE HE 53 56 | 109 | 24.0 ] 85.0

32 |# = 56 471 103 | 16.0 | 87.0

33 |iRET HAX 53 52| 105 | 18.0 | 87.0

34 |EHE FE 55 51 | 106 | 18.0 | 88.0

3% |17 &S 51 56 | 107 | 19.0 | 88.0

36 |&F niF 58 50 | 108 | 20.0 | 88.0

37 |#F & 53 571 110 | 22.0 | 88.0

38 |FE B 51 56 | 107 | 17.0 ] 90.0

39 |=w #Bx 58 541 112 ] 22.0 ] 90.0

40 |ER 15# 58 571 115 ] 24.0] 91.0
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